
CS 351 Computer Architecture                                                        Fall 2009
Home Work # 4        

       Due:  November 2,  2009
         1. Exercise 3.4.1 (a)
          2. Exercise 3.7.2 (a)
          3. Write a function in MIPS that implements the (3,2)-carry save adder. Specifically, the input will be two 31-bit unsigned integers stored in registers $a0, $a1 and $a2. (Assume that the leading bit of the inputs are 0’s.) The output should be two 32-bit integers. Write the MIPS program to print the two output integers. Test your program with the inputs A = 987464523, B = 89863542 and C = 746455431.  
          4. With x = 0100 0110 1101 1000 0000 0000 0000 0000 and y = 1011 1110 1110 0000 0000 0000 0000 0000 (both in binary) representing single-precision IEEE 754 floating-point numbers, show the result of all the steps performed by the floating-point adder to compute x + y.
         5. In the lecture, we exhibited a positive integer that can’t represented exactly using floating-point format. What is the smallest positive integer that can’t be so represented?
































































